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Questi@per Specific Instructions
Please read each of the fo, instructions carefully before attempting questions :
There are TWENTY qu% ringed both in HINDI and in ENGLISH.

All questions are gco ¢
The number of %ied by a question/part is indicated against it.

Answers I;Qnen in the medium authorized in the Admission Certificate which must be
stated clea e cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off. :
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

“Urd # omyfie HET i Haifed e YTy FETE RO gRT YaEiaRvie
qHErel &1 "iagrier ® |7 gaTd are fafte i gemar @ 5@ s 1 fae
i | (150 wrsat & I )

“The most significant achievement of modern law in India is the
constitutionalization of environmental problems by the Supreme Court.”

Discuss this statement with the help of relevant case laws.
(Answer in 150 words)

“W%Wéaﬁﬁmawﬁaﬁrﬁammwaﬁwmﬁmﬁ%
ATRERT 1 39eTedl &, fohg 3 arferepm swefm 7@ & 17 feomoft Hifvrg |
(150 | ST i)

“Right of movement and residence throughout the territ dia are freely
available to the Indian citizens, but these rights are n Jite.” Comment.
swer in 150 words)

IR T W, Wd | wfch & foehegieor 4 FQW-WQ%%HW
a% aiafda foram 8 2 (150 wsal & 3T dfve)
To what extent, in your opinion, h de entralisation of power in India

changed the governance landsca? assroots ? (Answer in 150 words)

TSI 991 % aumafd & &9 8 Trgafa <t iRt it e hifsr |

(150 wreg} ¥ I ifre)
Discuss the role of t -President of India as the Chairman of the
Rajya Sabha. (Answ 50 words)

¥ fuser ot oF > Fifaferes Fep @ 3anfies fem § wgiawr = «= d w@d
BY 3Heh HIfT | (150 wsg] § IR i)
Discuss the of the National Commission for Backward Classes_ in the wake

of i rmation from a statutory body to a constitutional body.
(Answer in 150 words)

TfA-S1RF FISAT Bl GHISTohdl o A&T I I e & o0 GhR 1R 55 83 & u=
Hdh 99 61 TIIIHAT 8 lﬁéamzﬁﬁm(womﬁﬁwaﬁq)

The Gati-Shakti Yojana needs meticulous coordination between the
government and the private sector to achieve the goal of connectivity. Discuss.
(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Ql11.

fesgimar % "o § wH uQfueEl i el 1 Ted gaiad & o
famem sifter sifufam, 2016 Haa fafus cwaes swe ® St 2 | feurft
HfT | (150 weat & IT i)

The Rights of Persons with Disabilities Act, 2016 remains only a legal
document without intense sensitisation of government functionaries and
citizens regarding disability. Comment. (Answer in 150 words)

A& ATH FHAUT ASHT & HIETH 8 NI oI SHaedl § UR U WIfaefial Hed 7,
fopeg gehl aroft dhmrd off | feoaoft i | (150 wregi § I i)

Reforming the government delivery system through the Diredt "Benefit
Transfer Scheme is a progressive step, but it has its limitations t ment.

( w@ 0 words)

‘Ui sficieRt 1 Sl QAT i R 1 qead] e W ST g A FHhe T
9 <61 iRt < e AIfsTT | (150 sg) 3T |

‘India is an age-old friend of Sri Lanka.’ Discuss In@ia’# role in the recent crisis
in Sri Lanka in the light of the preceding stat »(Answer in 150 words)

e faam & ®=n fews (BIMSTEC AARC) &l & Tsh THMIG T

2 2% A1 & o= T GHFAN i 8?39 9¢ WS % ST I I

g faew fifd & seva 0 ? (150 yIsa1 ® I Eif)

Do you think that BIMSTE%’S a parallel organisation like the SAARC ? What
hZed

are the similarities an ilarities between the two ? How are Indian
foreign policy objectiv, by forming this new organisation ?
: (Answer in 150 words)

T , 1951 % F=qiid GHg 1aT TSy faenfent & wewli & ga

T 3IM 1 #6 ol 1 afseen w1 faaem Hifse | 6 emami w fomeft faifea
fatem 1 s =ifva foFan s aear 2 2 39 Fola & foeg difsa v

&l 3TN 39y ® ? arg fafetrn 1 g difSw | (250 wregi # 3w i)

Discuss the procedures to decide the disputes arising out of the election of a

Member of the Parliament or State Legislature under The Representation of

the People Act, 1951. What are the grounds on which the election of any
returned candidate may be declared void ? What remedy is available to the
aggrieved party against the decision ? Refer to the case laws.
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 (Answer in 250 words)r 15
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Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

"mem%mﬁmﬁmﬁéﬁﬁm | faenfresr &

g @ o TsaTet grr sreaeEl % YA e it dgan it o= Hif |
(250 vt T I Afd)

Discuss the essential conditions for exercise of the legislative powers by the
Governor. Discuss the legality of re-promulgation of ordinances by the
Governor without placing them before the Legislature. (Answer in 250 words)

“qra A TP TRfae o FEER % 9y § 8, St e od Tea- £
gg ® |7 feogoft hifSw | (250 wrsgi # I i)
e

“While the national political parties in India favour centralisatién, regional
parties are in favour of State autonomy.” Comment. ( we® words)

Rd R %18 & UPafd & Fatfad 89 6 ufsean & Tesieh qUeTuT ShifSTT |
| CJ 250 wIsgt H IR <ifow)
Critically examine the procedures througlw e Presidents of India and

France are elected. (Answer in 250 words) ¥

ATl TR % IgHT o ITeAIh AP AR & Aate i 1 gt %1 faa=m
T | (250 181 | I )

Discuss the role of the Elechign§ Commission of India in the light of the
evolution of the Model Cogde,of Conduct. (Answer in 250 words)

FHEATHRT AT PagIRiTch WA 1 TATS % afed am] iR Ta) 6t a1 & forw
erehifd 3N IUFUE I Taa hl AETIh1 & | == HIfu | ‘

(250 vrsgi | I Eifore)

Besides are schemes, India needs deft management of inflation and

to serve the poor and the underprivileged sections of the

ss. (Answer in 250 words)

: .
&mﬁm%%m%@mwﬁwﬁmmﬁﬁwmm
H gHeTRe WrfieRl % Hewd i gl B 2 39 I % sifucy w1 fag i |

(250 3rea1 § IR EifS)

Do you agree with the view that increasing dependence on donor agencies for
development reduces the importance of community participation in the
development process ? Justify your answer. (Answer in 250 words)
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Q18. Thefl e & e & 9N § Sk 3 fopu femn, =t <t fien & Sron-senfa

Q19.

Q20.

ugfd & dada # fyees it ifard st e o stfoeer stfafam, 2009 smaaia

2 | favawor Hifre | (250 wreat # I i)

The Right of Children to Free and Compulsory Education Act, 2009 remains

inadequate in promoting incentive-based system for children’s education

without generating awareness about the importance of schooling. Analyse.
(Answer in 250 words)

12U2 (¥Rd, $909d, §Y% 3 WM R OYh Usd WiGH) angd
TSIt & Wi <1 fedrf st fohe R wuraia m ? (250 wa) # I 4

How will I12U2 (India, Israel, UAE and USA) grouping tran
position in global politics ? (Answer in 250 words)

‘T FAl AW hl TG B | gausHifa & Gy H,
Sy gited s feun #§ wia hi seerd Hifa w1 wfer aois

‘Clean energy is the order of the day.” Describg Bpief] Ind1a s changing policy
towards climate change in various internati
geopolitics. (Answer in 250 words)
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